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add all the data
then divide by the number of pieces of data

example
data:  6  2  18  5  12

mean
6 2 18 5 12
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put the data in order
identify the middle piece of data

example 1�������������������������
data:  6  2  18  5  12

�������������������������
�������������������������in order:  2  5  6  12  18

median = 6

example 2����������������������������
data:  6  2  18  5  12  11

����������������������������
����������������������������in order:  2  5  6  11  12  18

median = 1(6+11) = 8•5

the most often occuring piece of data

example 1������������������������
data:  6  2  18  5  2

������������������������
������������������������mode = 2

example 2���������������������������
data:  6  2  18  5  12

���������������������������
���������������������������mode = not defined
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1  4  9  16  25  36  49  64  81  100  121  144  169  

���������������������������������������������������
���������������������������������������������������196  225  256  289  324  361  400  441  484  529 
576  625  676  729  784  841  900  961  1024 ...

the nth square number = n2

1  8  27  64  125  216
343  512  729  1000 ...

the nth cube number = n3

1  3  6  10  15  21  28  36
45  55  66  78  91  105 ...

the nth triangular number = 1n(n+1)

2  3  5  7  11  13  17  19  23  29  31  37  41  43  47 
����������������������������������������������������
����������������������������������������������������53  59  61  67  71  73  79  83  89  97  101  103 ...

a prime number is divisible by only itself and 1

or
a prime number has only 2 distinct factors
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the difference between the maximum
and minimum pieces of data

example
data:  6  2  18  5  12
range = 18 - 2 = 16
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Area r 2= π
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add all the data
then divide by the number of pieces of data

example
data:  6  2  18  5  12

mean
6 2 18 5 12

5
43
5
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put the data in order
identify the middle piece of data

example 1
data:  6  2  18  5  12

in order:  2  5  6  12  18
median = 6

example 2
data:  6  2  18  5  12  11

in order:  2  5  6  11  12  18
median = 1(6+11) = 8•5



the most often occuring piece of data

example 1
data:  6  2  18  5  2

mode = 2

example 2
data:  6  2  18  5  12
mode = not defined



the difference between the maximum
and minimum pieces of data

example
data:  6  2  18  5  12
range = 18 - 2 = 16







1  4  9  16  25  36  49  64  81  100  121  144
169  196  225  256  289  324  361  400  441
484  529  576  625  676  729  784  841  900

the nth square number = n2



1  8  27  64  125  216
343  512  729  1000 ...

the nth cube number = n3



1  3  6  10  15  21  28  36
45  55  66  78  91  105 ...

the nth triangular number = 1n(n+1)



2  3  5  7  11  13  17  19  23  29  31  37  41
43  47  53  59  61  67  71  73  79  83  89  97

a prime number is divisible by only itself and 1

or
a prime number has only 2 distinct factors
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